X7t A
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o RA 3SR (20143 78 20, T HR/S)

F& = o X = = o S

zgu7 | 2947 ;’;,ﬂ s S

gA e T : Zhe | A2 | Lme | A
38 30Y . = - - - = = o — _

A2 10Y | 80 16 267 | 178 1,705 | 3485 3,446 2,393 886 2,725
A% 20Y | 8 16 263 177 1,708 | 3505 3,466 2,435 873 2572
AE30Y | 79 16 270 | 183 1,697 | 3,467 3,455 2,308 872 2,530
5¢10Y | 83 7 272 182 1,708 | 3456 3,437 2,356 866 2,666
5820 | 78 17 260 | 179 1,698 | 3412 3,397 2,324 863 2,435
BE30Y | 79 20 268 | 177 1,698 | 3408 | 3388 2,318 866 2,481
6% 104 | 78 16 261 174 1,692 | 3326 3,330 2,310 865 2,338
6E20¢ | 79 1 261 178 1698 | 3320 3,332 2,317 879 2,663

6 304 | 80 16 260 171 1,721 3,368 3,388 2,305 868 2,615
78 10d | 80 17 2o7 172 1,722 | 3320 3,362 2,313 870 2820
T2 20¢ | 80 17 266 | 182 1,712 | 3,303 3,370 2,302 890 2,739

A2 sEEYs(EME NAYE)

Lt 2% (20143 78 269, T+l : M)
e Yoy Ho=y | dEg"w | dHedd =l i
(11~13.7) | 43,07 | 14.06 | 11~20 07.25 |~
At | 2AB00kg) | & 3474 3202 4,186 4,430 4,355 36.0
x| £0}%| - 1,653 1643 2527 2,447 2717 65.4
7t | (4~5EE) | o 1,135 817 1,269 1562 1,567 918
2 £0HK| % 1,850 1827 2619 2781 2757 50.9
(37) | (6~7EE) | o 1,321 1,010 1,782 1993 2,038 101.8
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7t ARPYSEE HRYMY T8UI(58)

| M@+ S3Y ARMM 74| 20| |

(T2 : %)
B 1A= B2 253 353 4532
= (32tn|ah) (foatalab (25atn[zh) (508to]3}) (508k=1})
R 935 55 08 0.2 -
5¢ 932 55 09 0.2 0.1
| HIMES S MARE ZAH| 50| | e
5 152 oE= 353 453 552
T = (202tn]at) (35atm]at (50gta]at) (75at0[3h) (758k=1})
ot 42 | 540 365 77 ki . Ca
e 546 359 80 14 01
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(9 8
o Xt A x2S EXI2R
58 9,560 758 8,802
6% 8712 650 8,062
7 7537 433 7104
20134 82 7273 265 7,008
9g 5,963 248 5715
102 5,868 185 5,683
e 6,158 233 5925
128 7328 275 7,053
19 9978 861 9117
28 11,857 928 10,929
20144 38 13,294 999 12,285
43 14,879 1,060 13,819
oH 15,542 1,043 14,499
A= YxilEs|
7t L4 FHE AN o e
solar 141 ~6 Ha=16 ]| HI(%)
= = FZ(A) =%(B) S(A) SU(B') AN B/B
232 FE(0=sH) 218 209 34 280 63.9% 74.6%
3 H(dS/7IE 0 0 0 0 = -
g X 2 % 10,408 47852 8,773 31,376 118.6% 162.5%
P I 1,320 6,871 1,208 4,665 109.3% 147 3%
bl - 222 675 21 66 1057.1% 1022.7%
£ k=1 = 154 1,414 96 929 160.4% 152.2%
o L 3 19 94 20 104 95.0% 90.4%
F = 15,745 29,247 17,512 29,421 89.9% 99.4%
H B 2,743 13,516 3272 13,016 83.8% 103.8%
by = 45777 234,444 42,940 200,693 106.6% 116.8%
= = 8,504 14,628 7223 14,088 17.7% 103.8%
7t A i 3 22 1 9 300.0% 244 4%
8 A 86,113 348,972 81,407 294 647 104.6% 118.4%
X2 @ 2MIE
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L}, 230, 27, HE, Ol0]AIE ZXIZ

(Tl & 28
ol ALl akeh 1 o HI(%)
e S2(A) Z4(B) FA(A) | 3AB) A/A B/B’
ZHER/AMNEE 1593 27,568 15672 23,665 101.3% 116.5%
=z g 2 = 17,703 75,941 16,162 56,818 109.5% 133.7%
#H B = H = 13,638 60,765 11,237 37,478 121.4% 162.1%
OtOl AR ZHE 463 3,484 463 3,155 100.0% 110.4%
Rh2 : A
D EELRTRERRT
7t 37| £ AN (B9l &, 2E)
2o A4S0 L o 6 o HI(%)
2= F(A) Z4(B) SA(A) | SA(B) AIN B/B’
4 7 4 1 7 17,013 149,410 15,290 132,610 111.3% N2.7%
4 5 4 1 7 73,092 376,491 65,987 327989 10.8% 14.8%
& A 90,105 525,901 81,277 460,599 10.9% 14.2%
AR A
U & 2HE 5o 4X (29 B 2E)
Aojar Wl = AL e 5 o HI(%)
. Z2(A) Z4(B) F(A) | 3A(B') A/N B/B’
4 s (¢ 3 1,120 8,750 858 6,361 130.5% 137.6%
5 0 1 5 25 0.0% 4.0%
il El| 1,736 10,519 1,748 9,704 99.3% 108.4%
& 260 281 1,097 1,083 23.7% 25.9%
ES 2| & 1512 2634 3,538 5,727 42.7% 46.0%
7| Et 14,848 66,903 12,434 54,102 119.4% 123.7%
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